FE V26P

__— Clamping block
- 1647000004 +——="" s

~ Washer DIN 125-A 84
\ 0010125004

\— Hexagon nut DIN 985 - M8-VA
0010985001

4

1279

510

510

-—"_7 package

In accessory

16202301

~— Basic element
16202201 j— Cross member extension

162022.0107

3
: ]

N\ Hexagon screw DIN 933 - M8x25
0010833007

i
L Hexagon nut DIN 985 - M8-VA
001.0985001

£— Hexagon nut DIN 6923-M8-A4 ~
001.6923003

Round head screw DIN 603-M8x16-A2-70
001.0603008

Delivery condition:
Folded packed, incl. accessory package

In accessory package
162023.01

162059



		2013-06-25T15:19:05+0200
	Preflight Ticket Signature




